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Rate of dehydration when given compounds are treated with cone. HySO,:
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1’6}_{
@ ——*-l-li—oi—> X5 XN
0
OH OH 0 OH
& G & D
OH
OH u*
A
Qs w00 o0 #E)
/0 ! ,’,/'-"" ':










30.

HB
H | D —&—> Product (without rearrangement of carbocation)

What is stereochemistry of product ;

(A) Racemic mixture

(B) Optically inactive
__{©€) Mixture of diastereomers - (D) Meso product
H,0* A _ J
————p .

(i) BH/THF )

(ii) HOJOH~ L ==

(i) Hg(OAC), - T

(ii) NaBH,/OH~ ( ' iy
Correct statement regarding products P,Q&R
(A) Product P & R are same (B) Product Q & R are same
(C) P & Q are functional isomers (D) Product P, Q & R all are different
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Select the incorrect statement about the product mixture in the following reaction :

Br,
{ —_E:L—) Products

(A)Itis optically active (B) It is racemic mixture
(C) It is a resolvable mixture

HBr aP

| (i) CH,l If P & Q are the major products then P & Q are respectively
(it) HBr

3 ()
B o = B
(A)Q/ N T N @’rr
A | e S
Br Br
D :
QLG e
A | A

In the gwen reaction :

C“:) B, (X1, [X]is:
H

Br

i
4 Re

(D) It is a mixture of erythro compounds
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In the given reaction:

‘l

" CHOH , [X]is:
&
(Excess)
[ OCH,4 Cl CH;
Cl Cl OCH; Ci
0 CH, 0~ “~OCH, 0 Cl 0 Cl

Which compound undergoes hydrolysis by the S,,1 mechanism at the fastest rate?

S B s

Arrange the following compounds in decreasing order of their reactivity for hydrolysls reactlon

I) C,H,~CH,-B My C,H, — CH - C,H, (Il av :
M r D | ( )@( ( )D-ZCHQ

Br J¢
(A)I>10>1>1V B)IV>1I>I1>11I (C)III>IV>II>I DO)IV>1I>1>1

H;

(A)

Which of the following is most reactive toward S 1 reaction.

CH,CI CH,—Cl CH,~CI CH,—C!
@ 9 O o0
OCH,

Arrange the following compounds in order of decreasing rate of hydrolysis for S 1 reactlorzt

(o [V

) @FHZ—Br e (1) H3C@CH2—BI T
| CHy
(1 cm-cnzcgz—m G ™) o /CH@(;Hz—Br %

AI>T>V>1  BIV>I>0>1 (Om>IV>I>1  D)I>N>M>]

Which one of the following compounds will give enantiomeric pair on treatment with HOH?

(|32H5 (|3H3 II'I | C,H,
®) CH,~C-1  B)CH-C-Br (O CH~C-Br (D) C,H,—é-—Br
| | 5 |

|
C,H; C,H; cH,







Major product is:
I

D_ P i
(A)<>></ I (B) ] (C)@ & (D) None of these
D D
CH;
45. H | I —2 Products. (If96% racemisation takes place)

Et
Find out the correct statement about the reaction.

(A) Among the products 48% S and 48% R configuration containing molecules are present

(B) Among the products 50% S and 50% R configuration containing molecules are present

(C) Among the products 48% S and 52% R configuration containing molecules are preserit

//%D) Among the products 52% S and 48% R configuration containing molecules are present
[6. In the given reaction the product [P] can be:

CH,-CH=CH-CH,~OH —{=%—[P]

Br
-~ I -
(A) CH,~CH=CH-CH,-Br _(BYCH,~CH-CH=CH,
I|3r
(C) CH,=CH-CH=CH, (D) CH, ~CH~-CH, —CH, -OH

47. Which of the following can not give Sy 1 reaction easily?
Br

: Br
Br
é (B) (5 (©) ﬁ (D) h

Wthh one of the following compounds will be most reactive for Sy 1 reactions ?

I

' Cl Br
/(AL@ ®) O’ © G’ ® O
o .

49. Which of the following compounds is most rapidly hydrolysed by S,,1 mechanism ?
(A) CH,CI (B) CI-CH,~CH=CH,
(C) (CgH,),CCl (D) C(H,.CH,CI



